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Code-A

oMo Questions

1. | Which of the foillowing is not present in soluble state in alkaline soils 7
(1) Potassium (2) Calcium
(3) Nitrates (4) Phosphorous

2. | Which of the following artificial chromosome has largest carrying capacity?
(1) BAC (2) YAC
(8) PAC . (f[)@ MAC

3. | Which is the correct sequence for impact assessment process in EIA ?

(1) Prediction of impacts — Identification of impacts —» Description of]|
environment — Evaluation of impacts — Identification of mitigation
needs.

(2) Identification of impacts — Prediction of impacts — Evaluation of|

impacts — Identification of mitigation needs.

(8) Identification of impacts — Description of environment — Prediction
of impacts — Evaluation of impacts — Identification of mitigation

needs.

(4) Description of environment — Identification of impacts — Prediction
of impacts — Evaluation of impacts — Identification of mitigation

needs.

4. |The most commonly used method for desalinization of water is :

(1) Distillation (2) Reverse osmosis

(3) Ion-exchange (4) Electrodialysis.
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Which of the following pertains to "high-waste approach” in dealing with
the solid and hazardous wastes ?

(1) Composting (2) Recycling
(8) Burying and burning (4) Reusing

In most of the studies, a large sample size is anticipated to
(1) Maximize the sampling error

(2) Get a low level of precieioxll:‘

(3) Maximize the standard deviation

(4) Get a high level of precieion.

The geometric mean of 4, 8 and 16 is
1 9.1 @) 46
(3) 80 4) 102

(1) Chalcophile element

Copper (Cu) is classiﬁed‘a[ecq_i'gi‘ing to its geochemical affinity as :

(2) Siderophile element |
(8) Atmophile element
(4) Lithophile element

9.

Which of the following is used in manufacturing flexible plastic bags and
sheets ? | :
(1) Polyethylene terephthalate
(2) f’olystyrene

(3) TEFLON

(4) Low density polyethylene

PHD/URS-EE-2022 (Environmental Science) Code-A
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10. | Which one of the following is a non-formal environment education and

awareness programme ?
(1) Environmental appreciation courses
(2) Environmental Education in school system

(3) National Environment Awareness Campaign

(4) Environmental Mahagement Business Studies

Which of the following is not a method for ex-situ conservation of

11.
biodiversity ? _
(1) In vitro repositories (2) Cryobanks
(3) Botanical gardens . (4) National parks
12. |The Protection of Plant variéties and Farmers Rights Act was passed by
the Indian Parliament in
(1) 1991 (2) 2001
(3) 2014 (4) 2002
13. | Which of the following BOD level waste water is permitted to be released
inlands by industries under Water (Prevention and Control of Pollution)
Act, 19747
(1) 80mgl (2) 30mg/
(3) 160mg/l - (4) 100 mg/l
14. | Which of the following is a scorable marker ?
(1) nptll (2) hptIV
(3) bar (4) gus

PHD/URS-EE-2022 (Environmental Science) Code-A
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15.

National Land Reform Policy stresses on
(1) Tenancy reforms

(2) Natural regeneration

(8) Restoration of ecologicai balance

(4) Watershed approach |

16.

Which is not true about the idea carrier matrix for enzyme immobilization ?
(1) Low cost |

@) Regénerabi]ity

(8) Stability

(4) Reductionin énzyme specificity

- 17.

In which years, the Ramsar Convention on Wetlands was held and come
into force ?

(1) 1965, 1969
(2) 1961, 1965
(3 1971,1975
(4) 1981,1985

18.

The Stockholm Convention is a global treaty to protect humans from

(1) Toxic gases
(2) Hospital acquired infections
(3) Persistent organic pollutants

(4) Carbon monoxide

PHD/URS-EE-2022 (Environmental Science) Code-A
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19, [ Which of the following is not a restriétion endonuclease ?
(1) DNAligase (2) BamH1
(3) EcoR1 (4) HindIII

20. | Which of the following is the right match concerning the toxic metal and
associated adverse impact ?
(1) Zn-Braintissuedamage (2) Ni-Keratosis
3) Ar-Renal poisoning (4) Hg-Pulmonary disease

21,

Amount of 8-hydroxyquin01in¢ (M.W. 145.16) required for preparing 1000
ml of 5 ppm solution is : .

1) 1.45mg @) 5mg
(3) 7.25mg | | (4) 14.5mg
22, |Long term stability of a community depends 'oh te "
(1) Biodiversity - - (2) Resource partitioning
(3) Biotic component ~ (4) Succession
23. | The external appearance of the community which may be described on the
basis of dominant plants, density height, colour etc. of plants is known
as: |
(1) Periodicity : ' (2) Phenology
(3) Physiognomy (4) Aspection
94. |IUCN headquarters is at :
(1) Paris, France (2) Vienna, Austria

(3) Morges, Switzerland (4) New York, USA

PHD/URS-EE-2022 (Environmental Science) Code-A
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25. | Ascompared to CO,, methane has global warming potential of :
(1) 5-10 times more - (2) 20-25 times more
(3) 40-45 times more () 60-65 times more

26. | Laterite soil contains more of
(1) Manganese and Silicate |
(2) Magnesium and Boron
(3) Ironand Aluminium
(4) Potassium and Lead

27. | Universally accepted method for isolating semivolatile organic compounds
from théir matrices is
(1) Solvent extraction (2) Double infiltration
(3) Sedimentation technique (4) Permeation

28. | The kind of association where both the population are benefitted, but not
essential for the survival of either population is referred to as:
(1) Competition ~ (2) Exploitation
(3) Amensalism (4) Protocooperation

29. Species diversity increases as one proceeds from

(1) Higher to lower altitude and lower to higher latitude
(2) Lower to higher altitude and higher to lower latitude
(8) Lower tb Egher altitude and lower to higher latitude
(4) Higher to lower altitude and higher to lower latitude

PHD/URS-EE-2022 (Environmental Science) Code-A
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Which of the following ecosystems has the lowest net primary production

30.
per square metere ?
(1) Agrassland (2) An open ocean
(3) A Coral reef (4) A tropical rain forest
31. |Brown forest soil is also known as
(1) Mollisols (2) Altisols
(3) Spodosols | (4) Entisols
39. | Establishment of a species in a new area is referred to as
(1) Ecesis ~ (2) Aggregation
(3) Stabilization - (9 Migration
33. | The Zooplankton of contmental shelf is generally the same as in
(1) Estuary region @) Pelaglc region
(3) Neritic region () Ben_thlc region
34. |'Mesothelioma' is caused by tb:_:icity of
(1) Mercury (2) Lead
(3) Arsenic (4) Carbon monoxide
35. |A volcanic eruptlon will be violent if there is

(1) ngh gilica and high volatiles
(2) Highsilica and low volatlles
(3) Low gilica and low volatiles

(4) Low silica and high volatiles

PHD/URS-EE-2022 (Environmental Sclence) Code-A
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36.

Clay minerals are

)
3

Tectosilicates (2) Sorosilicates
Inosilicates | - (4) Phyllosilicates

317.

In biogeochemical ¢ycle, a chemical element or molecule moves through

D
@

@
@

| mthosphere and atmosphere

Biosphere and lithosphere
Biosphere, lithosphere and atmosphere

Bidéﬁ.héfel, l(lithOSphefe, atmOsphere and hydrosphere

38.

Biogas produced by anaerobic bacterial activity is a mixture of-

1)
@)
@
@

CH,OH, CO,, NH, and H,0"
CO,, S0,, NO,, CH, and H,0
H,S, CO, Co, CH and LPG ”
CH co NH HSandHO S

39.

W'hlch of the followmg statements about the oxidative decarboxylation of

pyruvate is correct ?

)
@
3)

4)

The oxidative decarboxylation of pyruvate forms acetyl-CoA which is
fed into the citric acid cycle
The oxidative decarboleéfion of pyruvate formed in aerobic glycolysis
occurs in the cytosol -
The oxidative decarboxylation of pyruvate is catalysed by the enzyme
pyruvate decarboxylase

The oxidative decarboxylatmn of pyruvate is reversible since there is

a large decrease of free energy in the reaction

PHD/URS-EE-2022 (Environmental Science) Code-A
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40. | Function of Release factor RF2(Prokaryotes)/eRF1 (Eukaryotes) during
translation is to :
(1) UAA/UGA recognition
(2) Ribosome translocation
(3) GDP-Exchanging
(4) GTP-Binding
41. | Therate of variation of populafion (N) with time (t)_repreSented by equation
dN/dt = ¥ N, follows .
(1) J-shaped curve (@) S-shaped curve
3) Z-shaped curve (4) Parabolic curve
42, |The soil typé which is good for agricuiture is
(1) Podozols (2) Latosols
(3) Serpent Soil G _Solonachak
43. |Restoration of genetic diversity of a population can be obtained by :
(1) Sexual selection | \
(2) Mutation
(3) Genetic drift
(4) Stabilising selection |
44. | As perIndian Standards (BIS) for drinking water desirable limit for total
hardness as CaCO, is
(1) 100mg/ (2) 200 mg/
(3) 300mg/l (4) 400mg/

PHD/URS-EE-2022 (Environmental Science) Code-A

9)



Code-A

Qu;o. sl - Questions

45. |[The smokestéék plumes exhibit 'coning' behaviour wi:ten
(1) Stable atmosphéric coii_;iifibns e;:ist

[#2) Atinosphére is unsstab_l‘(.a i .

(3) The height of the stack is below the inversion layer

(4) Inversion exists right from the giound surface above

46. | Among total dissolved matter in marine water, chlorine accounts for
(1) 30% (2 55%
B 12% (4 6%

47. |Peroxyacetyl Nitrate (PAN) is formed by oxidation of
(i) Hydrocarbons (ii) Isoprene

(iii) Terpene (iv) Arsenic

Choose the correct answer from the codes :

(1) (@ and Gv)

@ (andGv)

(8) (iii) and (iv)

@ (), (i) and (iii)

" 48. |The evolution of genetic resiSfance to antibiotics among disease-carrying
bacteria is an example of

(1) Stabilizing natural selection

(2) Diréctional natural selection
(3). Diversifﬁng natural selection -

(4) Convergent natural selection

PHD/URS-EE-2022 (Environmental Science) Code-A
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49.

Beer's Law is applicable in case of :
(1) Heat transfer |

(2) Convection studies

3 Transmission of light

(4) Photochemical reéction

560.

Anemometef is used to measure
(1) Atmbspheric pressure (2) Wind speed |
(3) Atmospheric temperature (4) Wind velocity "

51.

Most abundant fossil is :
(1) Coal (2) Natural gas

3) Oil (4) Peat

b2.

Chaparral, Maquis, Encinous, Melleseab are important areas of
(1) Tropical deciduous woodland

(2) Temperate evergreen woodland

(3) Tropical evergreen woodland

(4) Temperate deciduous woqdland

563.

Which of the following food chain is correct ?

6)) Phytoplankton - Zooplan.kton - Tu.rtle — Crabs™
2 Phytoplankton - Zooplankton — Crab — Turtle
(3) Turtle —» Crab-; Zoopla.nkton —» Phytoplankton
(4) Zooplankton — ‘Turtle — Crab—s Phytoplankton

PHD/URS—EE—2022 (Envxronmental Science) Code-A
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54.

Two species cannot remain in same place according to
(1) Allen'slaw (2) Gausexlklypothesis
(3) Doll's rule 4 Weismann's theory

65.

Identify the correct pair :

(1) Edaphic - Saline soil

(2) Ecotope-Transition between two ecosystems
(3) Heliophytes- Photophilic plants

(4) Ecotone-Particular type of soil

b66.

Freshwater ecosystems are nutritionally limited by
(1) Phosphorous and Iron

(2) Phosphorous and Carbon

(3) Iron and Nitrogen

(4) Nitrogen and Calcium

67.

'Threshold of Secunty refers to the populatmn level at which

(1) The balance between parasite and host is dlsturbed as the host

produces antibodies.

(2) Functional response of the predator is very high.

3) Predators no loﬁger'ﬁnd Ait profitable to hunt for the prey species.

(4) Parasites damage the host body but donot cause 1mmed1ate mortality.

PHD/URS-EE-2022 (Envuonmental Science) Code-A
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58. | Which of fo]lowiﬁg statements is incorrect about the enzyme complex which

synthesizes ATP during oxidative phosphorylation ?
(1) Its activity is not affected by un-coupler :
(2) It contains a protein chahnel

(3)‘ It is inhibited By oligomycin

(4) It binds to molecular oxygen

b69.

"Bermuda grass a]lergy" is a type of
(1) Contact allergy (2) A1rborne allergy

(8) Hydroborne allergy 4) Soﬂborne allergy

- 60.

Which of followmg blotting techinque is considered more convenient, when

no restnctlon sites are needed to be studied ?
(1) Northern blotting (2) Dot blot

3) Westem blotting (4) Southern blotting

61.

Pleistocene fepresents period of

(1) Col(i c]imate

(2) Warm chmate

(3) Alteration of cold and warm climate with high proportmn of cold period

4) Alteratlon of cold and warm chmate with very high proportion of warm

penod

PHD/URS-EE-2022 (Enwronmental Sc;ence) Code-A
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62. Whichr of the foﬂowiﬁg is a function 61" M cyclins (product of cdc 13 gene)

during cell cycle ?
(1) Activate Cdk1 for S phase (2) Activate Cdk1 for M phase
() Phosphorylationof Cdk  (4) Converts M form of Cdk1 to S form

66.

' _63. Which of the following m'onoz_ﬁer did not make up DNA ?
(1). Deoxythymidj]ic acid '
2 Deoxyguany]ic acid
(3) Deoxyuridylic acid -
(4) Deoxycytidine acid
~ 64. | Bio-oil can be obtained from lignocellulose by
(1) Combustion (2) Fast pyrolysis
(3) Gasification (4) Transesterification
' 65. |During DNA replication, OKazaki fragments are formed on -
(1) Unopened strands (2) Leading strand
(3 Unopened proteins - (4). Lagging strand
The validity penod of Envu'onmental Clearanoe after Environmental Impact

Assessment is least for
(1) Mining projects

(2) River valley projects
(3) Harbour projects

(4) Area development projects

PHD/URS-EE-2022 (Environmental Science) Code-A
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67. | Which statement is not correct for hazardous wastes ?

(1) They contain one or more of 39 toxic compounds
(2) They catch fire easily
(3) They are nopreactive and stable:

(4) They are capable of corroding metal dohtaiﬁers

68.

Right to clean environment is guaranteed in Indian Constitution by
(1) Article 14 (2) Article 19
(8) Article 21 (4) Article 25

69.

by CPCB in
(1) 1994 (2) 1984
(8) 2004 | (4) 1974

National Ambient Air Quality Standards for major pollutants were notified

70.

Public Liability Insurance Act came into existence in the year :
(1) 1986 - (2) 1989
(3 1991 | (4) 1995

1.
a homozygote andhhgteroz‘jr‘gote ?
(1) RAPD -~ (2) AFLP
(3) RFLP MR, 4) ISSR

Which one of the following DNA m;rkers can be used to distinguish between

'PHD/URS-EE-2022 (Envn'onmental Sclence) Code-A
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72.

|® Omnivore L ' (4) Secondary consumer

In Y-shaped energy flow model, one arm represents herbivore and the
other ST : '

(1) Carnivore - (2) Decomposer

73.

Which of the foﬂoﬁg is not present in acid rain ?
(1) Peroxyacetylnitrate (2) H,CO,
(3) : 'HNO , : - (49 H,SO,

74.

(4) Chi-square is a static hypothesis and not a parameter

Which one of the following is not true about characteristics of chi-square
dlstnbutlon ?

1) Cln-square curve value is always positively skewed
(2) Chi-square va.lue decreases with the increase m degree of freedom

3) The mean of d.tstnbutlon is the number of degree of freedom

75.

The performance of a sound msulatmg matenal 18 expressed in terms of :
1) Vibratmn mdex : (2) Sound reductmn index

3) Noxse level mdgx R @ SO}md coefficient

76.

Which of the fo]lomng sampling methods 1s based on probablhty 9
(1) Convenience samplmg

(2 Quotasampling =~

(3) Judgement sampling’

(4) Stratified samplmg |

PHDIURS—EE—2022 (Env:ronmental Sclence) Code-A
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77. | Which one of the following is not a non-parametric test ?
(1) t-test (2) Sign test
(3) Chi-square test . (4) Runtest

78. | In geological studies, a dome shaped intrusion is called as :
(1) Volcanic neck (2) Laccolith
(3) Nuee ardente (4) Caldera

79.. | The Activated Sludge Processisa _____ wastewater treatment process.
(1) Chemical ~(2) Biological
(3) Physical . (4 Biochemical

80. The number of organisms of same spécies per unit area is :
(1) Dispersion (2) - Competition
(3) Density - (4) Mortality

81. |Dunes are the most spectacular land forms of | ecosystem.
(1) Marine ' (2 Desert
(3) Grassland _ (4) Forest

82. | Highest level of species richness is observed in

(1) Tropical rain forest
(2) Temperate”gr"ass lands
(3) Coniferous forests

(4) Alpine pastures

PHD/URS-EE-2022 (Environmental Science) Code-A
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83. |The technique of ext‘racting metél‘ from ore bearing rock is called

as:
(1) Bio extraction W e
@ I'l_\/.iicrob.ial .extré,c;;ion

6)) Bi§ leaching

(4) Bio filtration

84. | A compound that is foreign in nature to biological systemis
(1) Halogenated compound .'

(2) Aromatic compound

3) Xenobioi;ic compound

(4) Organic compound

~ 85. | Which of 'the following is not true about Hatch and Slack cycle ?
(1) CO, acceptor is PEP

(2) Oxaloacetate is ﬁrst stable product

(3) Co, compensatzon pomt is very high

(4) Thu'ty ATP are requu'ed for synthesis of one glucose molecule

PHD/URS-EE-2022 (Env:ronmergg)l Science) Code-A
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86. | Which of the following statements about the generation of ATP in the

electron transport chains is correct ?

(1) TheF1 subunit of the ATP synthase contains the motor which is driven
to rotate by the proton flow

(2) -The FO subunit of the ATP synthase binds ADP and Pi tightly before
ATP synthesis occurs

(3) The FO subunit of the ATP synthase contains the catalytic centre
that synthesizes ATP |

(4) The F1 subunit of the ATP synthase contains the catalytic centre
that synthesizes ATP

87. | Chlorella species are widely used in the removal of :
(1) Organic waste (2) Hydrocarbons
(3) Heavy metals (4) All of these
88. |Cd, Pb and Hg are nephrotoxic metals as they cause harm to____ organ.
(1) Liver (@ Kideny |
6)) Pancreas_v. | ,(;i) Lungs
89; Flood which is caused due to heavy rain or dam break within ‘6-12 hours of
beginning of rainfall is
6) River Floods - (2) Flash Floods
(3) LagTime Floods | 4) Coastal Floods

PHD/URS-EE-2022 (Env1ronmental Science) Code-A
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90. |A non directed physmo chemlcal mteractmn between heavy metal ions |

and microbial surface are called :
(1) Biotransformation (2) Bioconversion
(3 Biomining @ Biosorptioh

- 91, | After 30 PCR cycles, theoretlcal number of DNA copies produced will be

near to : A .
(1) 1073 L ® 107374
(3) 10737418 (4 1073741824

92. | Tendency of pollutants to_becbme concentrated in the trophic level is :

(1) Bioremediation (2) Biomagnification
|(3) Biopiracy (4 Biorhythm

93. |The inhibitory effect of oxygen on the rate of photosynthesis is known as

(1) Warburg effect - (@) Emerson effect
(3) Pasteur gﬁgét " @ Blackman effect
94. |The role of chiorine in water treatment is :
1) To.rei.tloVé- hardness | (2 To remove ionél
3 To remove bacteria 4 .T.o act as coagulant ‘a_gent

95. |The World Wetland Day is celeb_rated on
(1) 22nd March  (2) 5thJune
(3) 16thSeptember ~ (4) 2Znd February

PHD/URS—EE-2022 (Envxronmexzta)l Sc1ence) Code-A
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96.

(3) Chemicals

Ergonomic hazards are caused by ..
1) MachJ.nery
(2) Poorly des1gned tools

4) Electricity

97.

Which of the followmg is a key intermediate compound hnkmg glycolysis
to Kerb's cycle ?

(1) Oxaloacetic acid
@) AcetylCoA
3) Succinyl CoA

(4) Pyruvicacid -

98.

| barriers are :

Species that occur in different geographical i‘egions separated by special

(1) Allopatric species (2) Endemic species
(8) Sibling species (4) Sympatric species

99,

The Natlonal Disaster Management Authority is headed by
(1) PrimeMinisterof India |
(2) President of Ind1a B o

3) Envuonmental Mmister

@ Chief thsters of states

1 100.

The carrymg capacity of a populatlon is determmed by its :
(1) Population growth . Q) Natality
(3) Limiting resources . " -(4).. Mortality

PHDIURS—EE—-2022 (Envu'onmental Scnence) Code-A
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1. |[Which one ofthe following DNA markers can be used to distinguish between

a homozygote and heterozygote ?
) RAPD (9) AFLP
(3) RFLP y (4) ISSR

2. |In Y- shaped energy ﬂow model one arm represents herblvore and the

other
(1) Carnivore - et s (2) 'D'ecomposer
3) Om'nivt)re_'; . @ Secondary consumer

3. W]:uch of the followmg is not present in acid rain ?
(1) Peroxyacetylmtrate @) H,CO,
() HNO, (@ HS0,

4. | Which one of the following is not true about characteristics of chi-square

dlstrlbutlon ?
(1) Chi-square curve value is always pos1t1ve1y skewed
(2) Ch1 -square value decreases with the increase in degree of freedom

(3) The mean of d1str1but10n is the number of degree of freedom

(4) Chi-squareisa statlc hypothesm and not a parameter

5. |The berformance of a sound insulating material is expressed in terms of :

(1) Vibration index " (2) Sound reduction index

3) N01se 1eve1 index ' (4) Sound coefficient

’ PHD/URS-—EE—2022 (Envn'onmental Seience) Code-B
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6. | Which of the following sam

ability ?

plin-g methods is based on prob

(1) Convenience sampling
(2) Quota sampling
@3 J ﬁdgement sampling

4) Stratlﬁed sampling

7. Whlch one of the followmg is not a non-parametnc test ?
(2) S1gn test
(4) Runtest

(1) t-test
(3) Chi-square test

8. |In geological studles, a dome shaped intrusion is called as:

(1) Vol_camc neck (2) Laccolith

3) | Nuee ardente 4) Caldera

9. |The Activated Sludge Processisa ___ wastewater treatment process.

(1) Chemical (@) Biological
3) Physical @ ~Biochemica1

- 10, The number of orgamsms of same specles per. umt area is
1) D1spers1on : 3 ] (2) Compet1t1on
@) Demsity . @ Mortality

- 11. Most abuﬁdar;tfoééil is |
(1) Coal o : | 2) Natural gas .,
(3) Oﬂ @ Peat '

‘ PHD/URS—EE—2022 (Env1ronmental Smence) Code-B
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12. | Chaparral, Maquis, Encinous, Melleseab are important areas of
(1) Tropical deciduous woodland

(2) Temperate evergreen woo:dlandw

(8) Tropical evergreen woodland

(4 Temperate deciduous woodland

13. | Which of the following food 4chain is correct ?

(1) Phytoplankton — Zooplankton »—)ATurtle — Crabs
() Phytoplankton —» Zooplankton —» Crab — Turtle
(8) Turtle — Crab— Zooplankton:- —> Phytoplankton
(4) Zooplankton '—->' Turt1e —> C\'rab;> Phytoplankton

14. |Two spemes cannot remain 1n same place according to
(1) Allen'slaw (2) Gause hypothesis
(3) Doll'srule - (4 Weismann's theory

- 15. [Identify the correct pair :

(1) Edaphic - Saline soil

2) EcotOpe-Transition between two eco'system"s |
3) Heliophytes- Photophilic plants i, -
4 Ecotone—Particular type of soil -

- 16. ,Freshwater ecosystems are nutr1t1ona11y limited by
1) Phosphorous and Iron |

2 Phosphorous and Carbon :

(3) Iron and Nitrogen

) Nitrogen and Calcmm

'PHD/URS—EE—2022 (Env1ronmental Smence) Code-B
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17. |'Threshold of Security' refers to the

population‘level at which

(1) The balance between parasite' and host 18 :disturbed as the host
produces antibodies. |
(2) Functional response of the predator 18 ve'ry.hlgh-‘

®3) Predators no.longer find 1t profitable to hunt for the prey species.

(4) Parasites damage the host body but do not cause immediate mortality.

18.

| (3) Itisinhibited by oligomycin

Which of followmg statements is mcorrect about the enzyme complex Wh]_ch
synthes1zes ATP during oxidative phosphorylatmn ?

1) Its activity is not affected by un-'coupler

@2 It contains a protein channel

(4) Itbindsto molecular oxygen

- 19.

"Bermuda grass allergy" isa type of
(1) Contact allergy sl (2) A1rborne allergy

3) Hydroborne allergy @ Soilborne allergy

20.

Which of followmg blottmg techmque is considered more convenient, when
no restnctmn sites are: needed to be studled 4

1) Northern b_lottmg - ..(-2)_'--Dot blot

(3) Western blottmg

(4)' "Southern blotting

PHD/URS—EE—2022 (Env1ronmental Sclence) Code-B
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21. Brown forest soil is also known as
(1) Mollisols @) Altleols
(3) Spodosols -  (4) Entisols

22, ’Establishment of a species in a new area is referred to as
(1) Ecesis ' " ; (2) Aggregatmn o
(3) Stabilization B (4) Migration

- 28. |The Zooplankton of coriti'nentzil ‘shelf is generally the same asin
(1) Estuary region ‘ (2) Pelagic region
3) Neriticr region 4) .Belllthic region

24. vMesethel;io;ma,'\is caused by fexicity of
1) Mereury v P ¢ Lead ,
(3) Arsenic - (4 Carbon monoxide

25. (A volcanic eruption will be Yiblent if there is
(1) High silica and high volatiles

2) ngh silica and low volatﬂes

3) Low sﬂlca and low volatlles

4) Low sﬂ.lca and h.lgh volatiles

26. |Clay minerals are A
@) Tectosilicates ' | (2) Sorosuhcates
3) Inosﬂlcates | (4) Phyllosﬂlcates

PHD/URS-EE—2022 (Env1ronmental Sclence) Code-B
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27. |Inbiogeochemical cycle, a chemical element or molecule moves through

| (2) Biosphere, lithosphere and atmosphere

1) Biosphere and lithosphere

(3) Lithosphere and atmosphere ,
(4) Biosphere, lithosphere, atmosphere and hydrosphere

28.

Biogas produced by anaerobic bactenaleetl_\{}ty .1_3. a mixture of
(1) CH,OH, CO,, NH, and H,0 e |

@ €O, SO, NO,, CH, and H,0

) H,S, CO,, CO, CH, and LPG .

@ CH, CO, NH, HSandHO

29.

|4 The oxidative decarboxylatlon Ofpyl‘uvate 18 reversible since there is

Which of the followmg statements about the ox1dat1ve decarboxylation of

pyruvate is correct ? '7 .

(1) The omdat;ve decarboxylatlon of pyruvate forms acetyl CoA which is
fed into the citric acid cycle - _

2 'The oxidative decarboxylatlon of pyruvate formed in aerobic glycolysis
occurs in the cytosol

(3) The oxidative decarboxylation of pyruvate is catalysed by the enzyme
pyruvate decarboxylase =~ . o

a large decrease of free energy m the reactlon :

- 30.

Functxon of Release factor RF2(Prokaryotes)/eRF1 (Eukaryotes) during

e

translation is to ;- i _ ‘
@ UAA/U GA reeognition, g '(2) Ribosome translocation
(3 GDP-Exchanging . . (4) GTP-Binding

- STH /URS—EE-2022 (Env1ronmental Science) Code B -
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QuI?ISOt.ion b Questions
: 31. |Which of the fdllov“ring'. 1s not a methed.for ex-situ conservation of
biodiversity ? , o P
1) In vitro repgsi;ter'l_es - © Cryob,ar)ks
@) Botanieal gardens S )] National-parks
32. |The Protectlon of Plant varieties and Farmers R1ghts Act was passed by
the IndJan Parhament in
@ w1 @ 2001
3) 2014 @ 202
33. | Which of the following BOD level Waste water is permitted to be released
inlands by mdustrles under Water (Preventmn and Control of Pollution)
Act, 1974? e '
1) 80mgl ¥ (2) 30 rhg/l
@ 150mel (@ 100mgl
34. W]:uch of the fo]lowmg isa scorable marker ? |
@) r_nptI‘I ) (2) hptIV
@ bar (4) gus
National Land Rer'orm Policy..: s_tresses on

'(2) Naturalregeneratlon o

(1) Tenancy reforms

(3) Restoratmn of ecological balance

(4) Watershed approach

\ . L

PHD/URS—EE—2022 (Enwronmental Sclehce) Code-B
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Code-B
S
Quﬁstion ' Questions ]

Which is not true about the idea carrier matrix for enzyme immobilization ?
(1) Low cost |

(2) Regenerability

(3) Stability

4) Reduction in enzyme specificity

37.

In which years, the Ramsar Convention on Wetlends was held and come
into force i , s |

() 1965199 - (@ 1961, 1965
@) 1971, 1975 ... .7 (4) 1981,1985

38.

The Stockholm Conventlon isa global treaty to protect humans from
1) Tox1c gases .

2 Hosp1ta1 acquired mfectmns :

(3) Persistent organic pollutents

4) Carbon mon'ox'id'e’”

39. | Which of the following is not a restnctlon endonuclease ?
(1) DNA hgase _ (2 Bam H1
(3) Eco R1 (4) HindIII
40. | Which of the following is the right match concermng the tonc metal and

associated adverse impact ?
(1) Zn-Brain tlssue damage -~ (2) Ni-Keratosis

(3) Ar-Renal poisoning M, @) .Hg-Pulmonersr disease

- PHD/URS-EE-2022 (Environmenta] Science) Code-B
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" Q“ﬁit.im . Questions
41. |After 30 PCR cycles, theoretical number of DNA dopies produced will be
near to : , '
(1) 1073 L (@ 1w0mm
(3) 10737418 o : (4) 1073741824
42, |Tendency of pollutants to become concentrated in the trophic level is :
1) Bloremedlat;on o ' (2) B1omagmﬁcat10n
(3) Biopiracy - 4) B10rhythm
" 48. |The inh'ibitorj effect of oxygen on the rate of photosynthesis is known as
(1) Warburg effect o 2) ‘Eme_rson effect
3) Pasteur effect N ‘_ (4). Blackman effect
44. | The role of chlorine in water treatment is :
[ @) Toremove hardness (2) To remove ions
(3) Toremove bacteria - (4) T_o act as coagulant agent
45 The Wof-ld Wetland Day is celebrated on
(1) 22ndMarch (2) 5thdJune
(3) 16th September - @ 2nd February
Ergonom1c hazards are caused by St

1) Machmery

(2) Poorly designed tools
(3) Chemicals
4) Electrlmty

PHD/URS—EE—2022 (Env1ronmental Science) Code-B
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47. | Which of the following is a key intermediate compound g glycolysiy

to Kerb's cycle ?

(1) Oxaloacetic acid
(2) Acetyl Co A

(8) Succinyl CoA

(4) Pyruvicacid

—

. 48.

Species that occur in d1fferent geographlcal re
barriers are : _ PR
(1) Allopatric species: L@ ‘.Et__idemic species

(3) Sibling spec1es T (4) .' Sympatric species

g10ns separated by speca

49.

The National Dlsaster Management Authonty is headed by

6} Prlme Minister of India

| (2) President of India - '

(3) Environmental Mlmster o
(4) Chief Ministers of states -

. 50.

The carrying capacity Of a population is determined by its :.

(1) P,Oplﬂation.gro_wth g o (2) Nat ahty
(3 Limitingresources’ - (4) Mortality

61.

Pleistocene represents peﬁod of
(1) Coldclimate
2) Warm chmate b

®) Alterat1on of cold and warm climate with high proportlon of cold period

(4) Alteration of cold and warm climate with ve
period.

ry high proportion of warm

PHD[URS—EE—2022 (Env1ronmental Sclen
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52.

Which of the. followmg is a functlon of M eyolme (product of cdc 13 gene)
during cell cycle ? :

(1) Actwate Cdk1 for S phaee (2) Actlvate Cdk1 for M phase
®) Phosphorylatlon of Cdk - (4) Converts M form of Cdk1 to S form

63.

Which of the followmg monomer d1d not make up DNA ?
(1) Deoxythymidylic acid

(2) Deoxyguanylic acid

(3) Deoxyuridylic acid -

4 Deoxycytidine' eeid'

54. |Bio-oil can be obtained from lignocellulose by
(1) Combustion ' . .. (2) Fastpyrolysis
3) Gasiﬁcetion : o 4 'Traneesteriﬁcation
55.

1 (1) TUnopened strands - : (2) Leading strand
3) Un'opened proteins' - " (4) Lagging strand

.During DNA replication, OKazakl fragments are formed on :

 56.

The validity" penod of Enwronmental Clearance aﬁer Environmental Impact
Assessment is least for : ‘

(1) Mining projects
2) River valley projects
(3) Harbour projects

@) Area development projects

PHD/URS—EE—2022 (Enwronmental Sclence) Code-B
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‘57. Which statement is not correct for hazardous Waeteﬂ ?
(1) 'I‘hey contam one or msre of 39 toxic compounds
(2) They ca_tch fire easily
(8) They are nonreactive and stable
(4) They are capable of corroding metal containers

58. |Right to clean environment is guaranteed in Indian Constitution by
(1) Attidel4 . (@) Articlels
(3) Article21 (9 Article25

59. |National Ambient A1r Quahty Standards for major pollutants were notified
byCPCBm T S
1) 1994 3 | e o (2)1984 -
® 2004 - @ 1974

60. |Public L1ab1]1ty Insurance Act came mto emstence m the year
() 1986 | - (2) 1989
® 11 @ 10

- 61. |[Dunes ari_e'the most spectacular land fOlme‘.o_f —_—

(1) Marine . (@) Desert
(3) Grassland . | (4) Forest

PHD/URS—EE—2022 (Env1ronmental Sci
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62. | Highest level of species richness is observed in
(1) Tropical rain forest

(2) Temperate grass lands

B) Coniferous forests

(4) Alpine pastures

63. |The technique of extracting metal from ore bearing rock is called
as: '

(1) Bio extraction

(2) Microbial extraction

(3) Bioleaching |

(4) Biofiltration 4‘ )

64. |A compound that is fdi;éig‘n in‘nature to bioloéicﬁl systemis
(1) Halogenated compound

(2) Aromatic compound -

(3) Xenobiotic compound

(4) Organic compound

65. | Which of the foilé)vving is not true about Hatch and Slack cycle ?
A (1) CO, acceptor is PEP .
(2) Oxaloacetate is first stable product
@) . CO, compensation point is very high
(4) Thirty ATP are required for synthesis of one glucose molecule

PHD/URS-EE-2022 (Environmental Science) Code-B
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'66. | Which of the following statements about the generatlon of ATP in the

electron transport chams 1s correct ?
(1) The F1 subunit of the ATP synthase contains the motor Whi(,:h 18 drivey
to rotate by the proton flow
(2) The FO subunit of the ATP synthase binds ADP and Pi tightly before
ATP synthesis occurs '
@B) TheFO subumt of the ATP synthase contams the catalytlc centre that
synthesmes ATP i '
(4) TheF1 subumt of the ATP synthase contains the catalytic centre that
synthesmes ATP '
67. | Chlorella species are widely used in the removal of :
(1) Organicwaste =~ (2) Hydrocarbons
(3) Heavy metals s @ All of these
68. |Cd, Pb and Hg are nephrotoxic m'etalhs, as they cause harm to - organ.
(1) Liver . . . (@) Kideny
(3) : Pancreas h (4) Lungs
69.

Flood Wh.'lCh is caused due to heaVy ram or dam break within 6-12 hours of
begmmng of rainfallis :

@ River Floods @ Flash Floods
(3) LagTimeFloods™  (4) Coastal Floods

PHD/URS—EE—2022 (Environmental Scienc
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Q“I%ifon i - Questions
70. |Anon directed physico:_éhsrhical interaction between hsavy metal ions and

microbial surface are called : -

(1) Biotransformation (2) Bioconversion
3) Biomining 4 Biosorption

71. |The rate of var1at10n of populatlon (N) with tlme ® represented by equation

© |dN/dt= 7N, follows’ .. .

(1) J-shaped curve % (2) S-shaped 'Cdrve
(3) Z-shaped curve - .(4) Parabolic curve

72. | The soil type which is good for agricdlturs is
Q) Podozols 2 (2) Latosols.
(3) Serpent Soil "(4)» S_oldnachak’

; .. 18 Restoration of gen'eig_iq diversity. of a'p:dpulation can be obtained by :
| (1) -Sexual selection g S |
@ Mutation
3 Geneticarits

(4) Stabmsihg selec,tion_ .

74,

As per Indian Standards (BIS) for drinking water des1rable limit for total
hardness as CaCO is - “

(1) 100mel - zoomgn
6)) ’300mg/1. s (4) .400mg/I

| PHD/URS—EE—2022 (Envrronmental Science) Code-B
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Qu§sﬁon Questions -
0. '
it 'coni ‘ hen
75. | The smokestack plumes exhibit 'coning’ behaviour W |

(1) Stable atmospheric conditions exile.;t T
(2) Atmosphere is unstable" - .
(8) The height of the stack is below the inversion layer

(4) Inversion exists right from the ground surface above

76. | Among total dissolved matter in marine water, chlorine accounts for
1) 80%  (2) 55%
@) 12% | @) 6%
77. |Peroxyacetyl Nitrate (PAN) is formed by oxidation of
(@ Hydrocarbons . ~ (i) Isoprene
(iii) Terpene . (iv) Arsenic
Choose the correct answer from the codes :
(1) (@ and @iv)
(2) (@) and (iv)
(3) (iii) and (iv)
@ ), ) and (i)
78.

The evolutlon of genetic resistance to antibiotics among disease- -carrying
bactena 1s an example of

1) Stablhzmg natural selection
2) Du'ectmnal natural selectlon
3) D1verexfymg natural selectlon

CY Convergent natural selectlon

PHD/URS—EE—2022 (Env1ronmental Scxence) Code-B

(16) e



Code-B

' stion : g
Quf:r Y - Questlons
79. |Beer's Law is applieable in case of :
(1) Heat transfer
(2) Convection studies
3 TranSmiSsion of .Ii.'ght'
4) Photochemicai reaction
80. Anemometer is used to measure
Q) Atmosphenc pressure (2) Wmd speed
3) Atmospher1c temperature @ W1nd veloclty
81. - Axnénnt of 8- hydroxqunohne M. W 145. 16) requ1red for preparmg 1000
ml of 5 ppm solution is : ‘ T
(1) 1.45mg LR (2) 5mg
e 7.25mg . (4 145mg
8‘2. Long term stability of a commumty depends on:
1@ Biodiversity . | (2) Resource part1t10mng
1®) Biotic component s @) .Success1on
83. 'The external appearance of the commumty which m'ay be described on the

| basis of dommant plants, dens1ty he1ght colour etc. of plants is known

as:
M Perio'dicity .~ (2) Phenology
(3) Phys1ognomy @ Aspectien

PHD/URS—EE—2022 (Env1ronmental Science) Code-B
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84. |IUCN headquarters «ie at : A
(1) Paris, France - ~* (9) Vienna, Austria
(8) Morges, Switzerland (4) New York, USA
85. |Ascompared to COz, methane has global warmmg potentlal of :
(1) 5-10 t1mes more e (2) 20 25 times more
(38) 40-45 t1n.1eh‘s}inore Y (4) :60-6.5 times more
86. |Laterite soil contains more of .'
1) Me.nganese and Silicate |
(2) Magneeiﬁm and Borqn :
(® Tronand Aluminium
(4) Potassium and Lead. | '
87. | Universally accepted method for 1solatmg eem1volatlle organic compounds
from the1r matrices 1s | |
1) Solvent extractlon B ) Doﬁble iﬁﬁltre.tion
3) Seghmentatmn techmqtie' .(4)' ~Pérmeation L
88. |The kmd of association where"leoth the pdpuletion are benefitted, but not
essential for the surv1va1 of e1ther populatlon is referred to as :
| (1) Competltmn ' s (2) Exp101tat1on
3) Amerisahsm e .'. (4) Protocooperation

PHD/URS—EE—2022 (Envn'onmental Sciéence) Code-B
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89,.

Species diversity increases as one proceeds from

(1) Higher t}o lower altitude and lower to highe’f Iatiblide
(2) Lower to higher altitude and higher to lower latitude‘ |
(B) Lower to higher altitude and lower to higher latitude |

(4) Higher to lower altitude and higher to lower latitude

| 90. | Which of the followmg ecosystems has the lowest net primary production
per square metere ?
(1) Agrassland ° e -
‘(2) An open oceah : |
3) AA Coral reef
- (4) A ti'_opi;zal rain fo_rest
91. Whlch of the ,foﬂlowing is not phesent in soiohle state malkah.ne soils ?
1 Potassiﬁh'l‘f - @ Calc1um e
(3) Nihrates o 2 4 Phosphorous
¢ 92, Wh.lch of the followmg ertiﬁcial chromosome has laréesf carr‘y\ing capacity?

|@ BAC .. (2) YAC

3) PAC-.-. PR Wo MAC

PHD/URS—EE—2022 (Envn'onmental Sclence) Code-B*
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98.

Which is the correct sequence for impact asgessment process in EIA‘?

(1) Prediction of impacts — Identification of imPa.CtB ——> De?ér?r{tlon of
environment'—-> Evaluation of impacts —> Identification of mlf:lgation
needs. ' , |

(2) Identification of impacts — Prediction of impacts —> Evaluation of

lmpacts —» Identification of mitigation needs.

(3) Identification of impacts — Description of environment — Prediction

of impacts — Evaluation of impacts — Identlﬁcatloa of mitigation
‘ needs.
(4) Description of environment — Identification of impacts — Prediction

of impacts — Evaluation of impacts — Identification of mitigation

needs.

- 94,

The most commonly used method for desahmzatlon of water is :
1) D1st111at10n s : (2). Reverse osmosis .. .

(3) Ion-exchange g v (4) Electrodlalysm =

95.

Wlnch of the fo]lowmg pertams to "hlgh waste approach" in dealing with
the solid and hazardous wastes ?

(1) Composting Q) Recychng
(3) Buryingand burning (4) Reusing

96.

(3) Maximize the standard deviationl

In most of the studies, a large sample size is ant1c1pated to
(1) Maximize the sampling error
(2) Get alow level of precision

(4) Get a high level of precision.

'PHD /URS-EE-2022 (Environmental Sclence) Code-B
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97. | The geometric mean of 4, 8 and 1618
1) 9.1 e @) 4.6
8) 8.0 K L. L (@ 102

98. |Copper (Cu) is claesiﬁed according to its geochemical affinity as :
(1) Chalcophlle element | " ’ ; |

@) Slderophlle element

3) Atmophlle element

4) Lith'ephile‘ele}me‘nt s

99. 'Whlch of the followmg is’ used in manufacturmg ﬂex1ble plast1c bags and
sheets ? nE rEaIIedl 3 u?»?t*@;i':*‘;;'.\:w.,-:' fo e wF a5

1) Polyethjrlene'texfep‘hthalate ;
@ Polystyrene
(3) TEFLON

(4) Low density polyethylene

100. | Which one of the following is a nonffoi?mal environment education and

B awareness programme ?
(1) Environmental appreciation courses
2) Environmental Education in school system ..

3) National Env'i'rbnmenlt Awarenesé'Campaign" .

@) Envuonmental Management Busmess Studies

L

PHD[URS—EE—2022 (Env1ronme12tal Scmnce) Code-B
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~ in OMR Answer-Sheet will be treated as incorrect answer.

7. Use only Black or Blue BALL POINT PEN of good quality in the OMR Answer-
Sheet. . :

8. BEFORE ANSWERING THE QUESTIONS, THE CANDIDATES SHOULD

~ ENSURETHAT THEY HAVE BEEN SUPPLIED CORRECT AND COMPLETE
BOOK-LET. COMPLAINTS, IF ANY, REGARDING MISPRINTING ETC. WILL
NOT BE ENTERTAINED 30 MINUTES AFTER STARTING OF THE

* EXAMINATION.
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Question

No. Questions

1. | Therate of variation of population (N) with time (t) represented by equation
dN/dt = ¥ N, follows -
(1) J-shaped curve ~ (2) S-shaped curve
(8) Z-shaped curve o (4) Parabolic curve

2. | The soil type which is good for agriculture is
(1) Podozols 2) Latosols
(8) Serpent Soil - 4) _Solonachak

3. |Restoration of genetic diversity of a pbpulation can be obtained by :
(1) Sexual selection
(2) Mutation
(3) Genetic drift:
4) Stabi]ising selection

4. |Asper Indian Standards (BIS) for dnnklng water desirable limit for total
hardness as CaCO, is
(1) 100mg/l 2) 200 mg/l
(3) 300mg/l " (4) 400 mg/l

5. | The smokestack plumes exhibit 'coning' behaviour when

(1) Stable atmospheric condifions exist
(2) Atmosphere is unstable
(3) The height of the stack is below the inversion layer

(4) Ihversion exists right from the ground surface above

PHD/URS—EE—2022 (Environmental Science) Code-C
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Quﬁs:.mn - " Questions

6. |Among total dissolved matter in marine water, chlorine accounts for
(1) 30% ' (2) 55%
(@) 12% @ &%

| 7. |Peroxyacetyl Nitrate (PAN) is formed by oxidation of
@ Hydrocarbons ~ (ii) Isoprene

(iii) Terpene (iv) Arsenic

Choose the corvect.answer from the codes :

® Gemdey

@ (i)andGv)

(3) (iii) and (iv)

(4 @, () and (iii)

.8. | The evolution of genetic resistance to antibiotics among disease-carrying

bacteria is an example of

| @) Stabilizing natural selection

(2) Directional natural selection

(3) Diversifying natural selection

(4) Convergent natural selection

9. |Beer's Law is applicable in case of :
(1) Heat transfer
(2) Convection studies

(3) Transmission of light

(4) Photochemical reaction

- PHD/URS-EE-2022 (Environmental Science) Code-C
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Q“ﬁ?m " Questions
10. Anemometer is used to measure

(1) Atmospheric pressure ~ (2) Wind speed
(38) Atmospheric temperature (4) Wind velocity

11. |Amount of 8- hyd.roxyqumohne (M.W. 145.16) requn'ed for preparmg 1000
' ml of 5 ppm solutlon is: \
Q) 145mg (2) 5mg
3) 7.25mg _ (4) 14.5mg
12. |[Long term stabi]ity of a community dependson ::
(1) Biodiversity "~ (2) Resource partitioning |
(3) Biotic component (4) Succession N
13. | The external appearance of the community which-m‘ay be described on the
basis of dominant plants, density height, colour etc. of ‘plants is known
as: , '
(1) Periodicity - (2) Phenology
3) Physiognemy N C)) Aspection
14. |IUCN headquarters is at :
(1) Paris, France ~ (2) Vienna, Austria
(3 Morges, Switzerland  (4) New York, USA
15.

As compared to CO,, methane has global warming potential of :
(1) 5-10 times more (2) 20-25 times more
(3) 40-45timesmore - - (4) 60-65 times more
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16.

Laterite soil contains more of

Q) Mariganese and Silicate (2) Magnesium and Boron

(3) Iron and Aluminium -(4) Potassium and Lead

17.

Universally accepted method for isolating semivolatile organic compounds
from their matrices is

(1) Solvent extraction  (2) Doubleinfiltration
@) Sediipentationl technique (4) Permeation

18.

| The kind of association where both the population are benefitted, but not

essential for the survival of either population is referred to as :
(1) Competition . . (2) Exploitation
3) Amens‘a]ism e (4)‘ Protocooperation

19.

Species d1ver31t§ incr;ases as one p‘roée‘eds from'

Q) H1gher to lower altltude and lower to higher latitude
2) Lower to higher altitude and h1gher_to lower latitude
(3) Lower to higher a{itifudé and léwéf to higher latitude
4) Hfgher to lower altitude and h.igher\to lower latitude

- 20.

Which of the following ecosystems has the lowest net primary production
per square metere ?

(1) Agrassland (2) An open ocean
3) A Coral reef | (4) A tropical rain forest

PHD/URS—EE—2022 (Env1ronmental Sclence) Code-C
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Questiohs

21.

Which of the foillowing is not present in soluble state in alkaline soils ?
(1) Potassium - (2) Calcium

(3) Nitrates | | 4) Phosphorous

22.

Which of the following artificial chromosome has largest carrying capacity?
(1) BAC | @ YAC
3) PAC - (4)@ Mac

23.

Which is the correct sequence for impa(:t éséessment process in EIA ?

(1) Prediction of impacts — Identlﬁcatlon of impacts — Description of
environment — Evaluation of 1mpacts —> Identification of mitigation

needs. -
(2) Identification of impacts — Prediction of impacts — Evaluation of
impacts — Identification of mitigation needs.
(3) Identification of impacts —» Description of environment —» Prediction
of impacts — Evaluation of impacts — Identification of mitigation
needs.
(4) Description of environment — Identification of impacts — Prediction
of impacts — Evaluation of 1mpacts — Identification of mitigation

needs.

24.

The most commonly used method for desalinization of water is :

(1) Distillation (2) Reverse osmosis

3) Ion-exchange ‘ '(4) Electrodialysis.

PHD/URS—EE—2022 (Env1ronmental Science) Code-C
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25. | Which of the following pertams to "lngh-waste approach" in dealing with

»the solid and hazardous wastes ?

(1) Composting (2) Recycling
(3) Buryingand burning '(4) Reusing

26.

In most of the studies, a large sample size 18 ant1c1pated to
(1) Maximize the sampling error et

(2) Get alow level of prec131on -

(3) Maximize the standard dev1at1on

4) Get a h1gh level of prec1s1on -

27.

a 91 @ 46

The geometnc mean of 4,8 and 16 is -

@3 80 - : ‘(4)“10.2

28.

Q) S1deroph11e element

Copper (Cu) is class1ﬁed accordmg to its geochemlcal affinity as :
1) Chalcophlle element .

(3) Atmophile element
4 L1thophJ.le élement = "

29.

(1) Polyethylene 'tefephth‘alate

Which of the followmg is used in manufacturmg flexible plastic bags and
sheets ?

(2) Polystyrene
(3) TEFLON
(4) Low density polyethylene

PHDIURS—EE—2022 (Envu'onmental Science) Code-C
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30.

Which one of the following is a non-formal environment education and
awareness programme ? :

(1) Enwronmental appreciation courses

2) . Env1ronmental Education in schodl Sysf:em

(3) National Environment Awareness Campaign

(4) Environmental Management‘B‘usi‘ness' Studies

31.

ecosystem.

Dunes are the most spectacular land forms of

(2) Desert

Ml

@)) Manne

3) Grassland (4) Fore st

32.

(8) Coniferous forests

Highest level of spec1es nchness is observed in .

(1) Tropical rain forest

2) Temperate grass lands B

(4) Alpine pastures

33.

The technique of extracting metal from ore bearing rock is called

3) Bio leaching

as.
(1) Bio extraction
(2) Microbial extraction

(4) Biofiltration

PHD/URS—EE—2022 (Env1ronmental Science) Code-C
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34.

A compound that is foreign ih nature to biological systemis ____.

(1) Halogenated compound ©2) | Aromdtic'compound

(3) Xenob1ot1c compound @ Qrgahic compyound.

35.

Which of the following is notv true about Hatch and Slack cycle ?
(1)_ CO, acceptor is PEP e |

(2) Oxaloacetate is ﬁrst stable product

3 CO compensatlon point is very h1gh

4 Thlrty ATP are requlred for synthe31s of one glucose molecule

36.

’Wh_lch of the followmg statements about the generatlon of ATP in the

(3) The FO subumt of the ATP synthase contams the. catalytlc centre that

electron transport chams is correct '7

(1) The F1 subumt of the ATP: syPthase contains the motor which is driven
to rotate by the proton ﬂow \

2) The FO subumt of the ATP synthase bmds ADP and Pi t1ghtly before
ATP synthesis occurs

synthes1zes ATP

(€] The Fl subunit of the ATP synthase contains the catalytic centre that
synthesmes ATP |

PHD/URS—EE—2022 (Envxronmental Sclence) Code-C
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37. | Chlorella species are widely used in the removal of :
(1) Organic waste . (2 Hydrocarbons
(3) Heavy metals (4) All of these

38. [Cd, Pb and Hg are nephrotoxicvmetals‘ as they cause harm to orgaﬁ.
(1) Liver '. . T (2) K1deny
(3) Pancreas g (4) Lungs

39. | Flood which is caused due to heavjr rain or dam break within 6-12 hours of
beginning of rainfall is
(1) RiverFloods =~ . (2) FlashFloods
(3 Lag Time Floods (4 Coastal Floods

40. |Anon dlrected physico chemical mteractlon between heavy metal ions and
mlcroblal surface are called e

| (1) Biotransformation . -3 (2) Bioconversion

(3) Biomining (4) Biosorption

41. |Pleistocene represents period of

(1) Cold climate

(2) Warm chmate
(3) Alteration of cold and warm climate: w1th h.1gh proportion of cold period

(4) Alteration of cold and warm chmate with very high proportion of warm

penod

PHD/URS—EE—2022 (Env1ronmental Scllence) Code-C
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42. | Which of the following is a function of M cyclins (product of cdc 13 gene)
during cell cycle ? |
(1) Activate Cdk1 for S phase (2) Activate Cdk1 for M phase |
3) Phosphorylation of Cdk* (4) Converts M form of Cdk1 to S form
'43. | Which of the following monomer did not make up DNA ? -
(1) Deoxythymidylicacid .- - |
(2) Deoxyguanylic acid |
(8) Deoxyuridylic acid
(4) Deoxycytidine acid
44. |Bio-oil can be obtained from lignocellulose by
O Comblistion .. ..(2) Fastpyrolysis
(3) Gasification o (4) Transesterification
45, During‘ DNA replication, OKazaki fré.gm'ents are formed on :

(1) Unopened strands ~ (2) Leadingstrand
(3) Unopened proteins - (4) Lagging strand

. 46. |The validity period of Environmental Clearance after Environmental Impact
Assessment is least for
(1) Mining prpjects
(2) River valley projects
(3) Harbour projects
(4) Area development projects

" 8 PHD/URS-EE-2022 (Environmental Science) Code-C

(10)



Code-C

| Q“ﬁi:lon Questions
47. |Which statement is not correct for hazardous wastes ?

(1) They contain one or more of 39 toxic compounds
(2) They catch fire easily
(8) They are nonieactiirg and stable

(4) They are capable of corrbding metal containers

48. [ Right to clean environment is guaranteed in Indian Constitution by
(1) Article 14 . (2) Article19
(@) Article21 .. . . (4) Article25
49. |National Ambient Air ‘Qi;‘ﬂagli_.tySftandgrds for major pollutants were notified
by CPCB in |
(1) 1994 (@ 1984
3) 2004 | @) 1974
50.

Public Liability Insurance Act came into existence in the year :
(1) 1986 | (2) 1989

3 1991 (@) 199

51.

Brown forest soil is also knbwri as
(1) Mollisols 2 Altisols

(3) Spodosols | . " (4) Entisols

PHD/URS-EE-2022 (Environp)éntal Science) Code-C
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62.

Establishment of a species in a new area is referred to as
(1) Ecesis (2) Aggregation
(38) Stabilization (4) Mlgratlon

53.

The Zooplankton of continental shelf is generally the same as in
(1) Estuary region " (2) Pelagicregion
(8) Neritic region | (4) Benthic region

54.

'Mesothehoma is caused by tOXlClty of
(1) Mercury (2) Lead
(3) Arsenic . @ _Carben monoxide

55.

A volcanic eruption will be violent if there is
1) H1gh silica and high volatiles |

2) High silica and low volatﬂes A

(3) Low silica and low volatiles

(4) Lowsilica and high volatiles

- B6.

Clay minerals are

‘(.1) Tectosilicates . S 2 Sorosilieates

(3) Inosilicates - ‘(4) Phyllosilicates

67.

In b10geochem1cal cycle, a chemical element or molecule moves through
1) Blosphere and hthosphere '

(2) ‘Biosphere, hthosphere and atmosphere

(8) Lithosphére and atmosphere

(4) Biosphere, lithosphere, atmosphere and hydrosphere

PHD/URS-EE-2022 (Environmental Science) Code-C
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Q“lfﬁwn | Quest{ons t
- 58. B1ogas produced by anaerob1c bactenal act1v1ty 18 a mixture of

(1) CH,0H, CO, NH,and H,0 _
@ €O, 80, NO,, CH, and HO
® -H,S, CO,, CO, CH, and LPG
@ CH, €O, NH, HS and H,0

59.

Which of the followmg statements about the oxidative decarboxylation of

pyruvate is correct ?

1) The oxidative decarboxylatlon of pyruvate forms acetyl-CoA which is

fed into the citric acid cycle

@ The ox1dat1ve deearbOxylatlon of pyruvate formed in aerobic glycolysis

~ occurs 1n the cytosol

) e oxidative decar bOXYlatmn of pyruvate is catalysed by the enzyme
pyruvate decarboxylas Sonts

(4) The oxidative decarboxylation of pyruvate is reversible since there is
. a large decreaSe of ﬁee energy in the reaction

- 60.

Functlon of ReleaSe factor RF2(Prokaryotes)/eRF1 (Eukaryotes) during

translatlon isto:

(1) UAA/UGA recogmtlon
2 R1bosome translocatlon
3 GDP-EXchangi‘ng

(4) GTP-Binding

PHD/URS—EE—2022 (Env1ronmental Science) Code-C
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o.
| s can be used to distinguish betweep

- 61. |Whichoneofthe following DNA marke
‘a homozygote and heterozygote ?
(1) RAPD |

(3) RFLP (4) ISSR

In Y-shaped energy ﬂow_model, one arm represents herbivore and the

—)

62.
‘| other

(1) Carnivore (2) Decomposer

(8) Omnivore (4) Secondary consumer

. 63. | Which of the follovving is not present in acid rain ?
‘(1) Peroxyacetylnitrate  (2) H,CO,
(3) HNO, e g () 1 H,SO,

64. Which one of the following is not true about charactenstlcs of chi-square
' distribution ? B
1) Ch.l-square curve value is always posmvely skewed

(2) Chi-square value decreases with the increase in degree of freedom
(3) The mean of distribution is the number of degree of freedom

(4) Chi-square isa static hypothesi-s and not a parameter

e

65. |The performance of a sound msulatmg matenal is expressed in terms of :

(1) Vibrationindex 2 Sound reduction 1ndex

(3) Noise ‘level index - (4 Sound coefficient

PHD/URS—EE—2022 (Env1ronmental Scie
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66. | Which of the following samplin'g mefhddé’ is based on probability ?

(1) Convenience sampling
(2) Quota sampling |

(3) Judgement sampling
(4) Stratified sampling

Which ene' of the following is'not a non-paréfnetric test ?

67.
1) t-test () Signtest
(3) Chi-square test () Run test
68. |[In geologicel stﬁdies, a dome sheped intrusion is called as :
(1) Volcanic neck o '(2) Laccolith
- [(8) Nuee ardente (4 Caldera
69. | The Activated Sludge Process is a ___ wastewater treatment process.
(1) Chemical (2) Biological
(3) Physical (4) Biochemical
70. | The number of organisms of s same- spec1es per unit area is
(1) _Dlsper_s,l.gp (2) Competltlon o |
3) Density -~ . (@ Mortality -
71. | After 30 PCR cycles theoretlcal number of DNA copies produced will be

(1) 1073

near to :
(2) 107374

3 10737418' (4) 1073741824

PHD/URS—EE—2022 (Env1ronmental Sclence) Code-C
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72. Tendency of pollutants to beﬁ:bn;e _concentr_ated in the trophic level ig -
(1) Bioremediation ~ (2) Biomagnification
(3) Bio piracy -~ (9 Biorhythm
73. | The inhibitory effect of oxygen on the rate of photosynthesus is knom
(1) Warburgeffect ~  (2) Emerson effect
3 Pasteur effect - (4), ‘Blackman effect '
74. | The role of chlorine in water treatnien’t is : |
(1) Toremove hardness : (2) To remove ions
@B) To remove bacteria o (4) To act as coagulant agent
- 75. |The World Wetland Day is celebrated on
(1) 22ndMarch @ 5thJune
3) 16th September (4) an February »
76. Ergonomlc hazards are cauSed by iviene.
(1) Machinery ki
(2): Poorly designed tools ,
(3)" ‘Chemicals R ol
@) EIectricity | |
77. | Which of the followmg isa key mtermedmte compound hnkmg glycolysis

to Kerb's: cycle e
(1) Oxaloacetic acid
(2) Acetyl Co A

(3) Succinyl CoA
(4) Pyruvicacid

PHD/URS—EE—2022 (Envnronmental Sclence) Code-C
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78. | Species that occur in different geographical regions separated by special
barriers are :
(1) Allopatric species (2) Endemic species
(8) Sibling species_ . (4) Sympatric species
79. | The National Disaster Management Authority is headed by

(1) Prime Minister of India
(2) President of India

(3) Environmental Minister
(49) Chief Ministers of étate_s

80.

The carrying capacity of a population is determined by its :
(1) Populationgrowth - - (2) Natality
(3) Limiting resources (4) Mortality

81.

Which of the following is not a method for ex-situ conservation of
biodiversity ?

(1) In vitro repositories (2) Cryobanks

(3) Botanical gardens (4) National parks -

82.

The Protection of Plant varieties and Farmers Rights Act was passed by
the Indian Parliament in

(1) 1991 (2 2001
(3) 2014 (4) 2002

PHD/URS-EE-2022 (Environmental Science) Code-C
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83. | Which of the following BOD level waste water is permitted to be releageq

inlands by industries under Water (Prevention and Control of Pollutiop)
Act, 1974 ?

(1) 80mgN | (2) 30mgl
(3) 150 mg/ '_ (4) 100 mg/
84. | Which of the following is a scorable marker ‘7
(1) nptll (2) hptIV
(3) bar (@ gus
85. | National Land Reform Policy stresses on
(1) Tenancy reforms
(2) Natural regeneration
3) Restoration of ecologxcal balance
(4) Watershed approach |
86.

Which is not true about the idea carrier matrix for eniyme immobilization ?|
(1) Low cost

()] Régénarai)ijity
(3) Stability « . -
(4) Reduction in enzyme specificity

87.

In which years, the Ramsar Convention on Wetlands was held and come
into force ?

(1) 1965,1969 . (2) 1961,1965
(3) 1971,1976 (4) 1981, 1985

PHD/URS-EE-2022 (Environmental Science) Code-C
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~ 88. | The Stockholm COnvention is a global treaty to protect humans from
(1) Toxic gases | '
(2) Hospital acquired infections
(3) Persistent organic poll}xtants |
(4) Carbon monoxide
© 89. | Which of the following is not a restriction endonuclease ?
(1) DNAligase (2) Bam H1
(3) EcoR1 (4) Hind III
- 90. |Which of the following ie- the.fx"ight match concerning the toxic metal and
' associated-'adverseiimpaot ? '
1) Zn-Brain tissue damage (2) NifKeratoeis i
3) 'Ar'-Rena] poisohing = (4) Hg-Pulmonary disease
91. |Most abundant fossil is : )
1@ Coal s (2) Natural gas
(3) Oil (4) Peat
92. |Chaparral, Maquis, Encinous, Melleseab are important areas of

(1) Tropical deciduous Woodland ,
(2) Temperate evergreen woodland

(83) Tropical evergreen woodland

4 Temperate demduous woodland

PHD/URS—EE—2022 (Envxronmental Scxence) Code-C
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93.

Which of the féllowixig food chain is correct ?

)
@
3
“@

»Phytoplanktqn - Zooplanktbn‘ .- Turtle —» Crabs

Phytoplankton - ZOOpI#nkton —» Crab — Turtle
Turtle — Crab -5 Zooplankton — Phytoplankton |

Zooplankton — Turtle —» Crab— Phytoplankton

—)

94.

Two species cannot remain in game p\lgce’v accord.mg to

D
(3)

Alleh's‘lav‘v . (@ Gause hypothesis

95.

Identify the correct pair:

1)

@)

3
@

Edaphic - Saline soil '
Ecotope-Transition between two ecosystems
Heliophytes- Photophilic plants .

Ecotone-Particular type of soil k .

96.

1)
0
3
“@

Freshwater ecosystems are nutritionally limitedq by

Phosphorous and Iron

Phosphorous_and Carbon

Iron and Nitrogen

Nitrogen and Calciuin

- PHD/URS-EE-2022 (Environmental Scien
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97. 'Threshold of Security' refers to the population level at which |

(1) The balance between parasite and host is disturbed as the host
produces antibodies. '

(2) Functional response of the predator is very high,
(3) Predators no longer ﬁnd it profitable to hunt for the prey species.
(4) Parasites damage the host body but do not cause immediate mortality.

98.

Which of following statements is incorrect about the enzyme complex which
synthesizes ATP during oxidative phosphorylation ?

(1) Its activity is not affected by un-coupler
(2) It contains a protein channel
(3) Itisinhibited by oligomycin

(4). It binds to molecular oxygen

99.

"Bermuda grass allergy" is a type of
(1) Contact allergy (2) Airborne allergy

(3) Hydroborne allergy - ‘(4) Soilborne allergy

100.

Which of following blotting techinque is consid;ered more convenient, when
no restriction sites are needed to be studied ?

(1) Northern blotting (2) Dot blot

(3) Western blottmg 4) Southern blotting

PHD/URS-EE-2022 (Envu‘onmenfal Sclence) Code-C
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uestion B : .
Q, No. . Questions

1. Which of the following is not a method for‘ ex-situ conservation of

biodiversity ?
(1) In vitro repositories (2) Cryobanks
(3) Botanical gardens\ ‘ (4) .National_ pa.rks

2. | The Protection of Plant varletles and Farmers Rights Act was passed by

the Indian Parliament in
(1) 1991 (2) 2001
(3) 2014 : | (4) 2002

.8. | Which of the following BOD level waste water is permitted to be released
inlands by industries under Water (Prevention and Control of Pollution)

Act, 1974?
(1) 80mg/ - (2) 30 mg/l
@) 150mg/ @ 100 me/l

4. | Which of the following is a scorable marker ?
() nptll (2 bptlV
@) bar . (4) gus

.5. | National Land Reform Policy stresses on

(1) Tenancy reforms
(2) Natural regeneration

(3) Restoration of ecological balance

4) Watershed approach

PHD/URS-EE-2022 (Envnronmental Sclence) Code-D
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6. | Which is not true about the 1dea carner matn# for enzyme u:nmoblhzatlon ?
(1) Low cost ' |
(2) Regenerability
(8) Stability -
(4j Reduction in enzyme spécificity

7. In which years, the Ramsa.f V‘Convé'ntio'n‘ on Wetlands was held and come
into force ? _
(1) 1965,1969 . (2) 19611965
@) 19711975 (4) 1981,1985

8. | The Stockholm Convention is a global ‘treaty to protect humans from | |
(1) Toxic gases
(2) Hospital acquired infections
(3) Persistent organic pollutants
(4) Carbon monoxide 4

9. | Which of the following is not a restriction endohixclé’a’se ?
(1) DNA ligase " (2 BamH1
3 EwoRl (4) HindIII

10. | Which of the following is the right match concernmg the toxic metal and
assomated adverse impact ? _
(1) Zn-Bram tissue damage = (2) Ni-Keratosis ,
(3) ArRenal poisoning (4) Hg-Pulmonary disgass

PHD/URS-EE-2022 (El;vironmental Science) Code-D
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11. |After 30 PCR cycles, theoretical number of DNA copies produced will be
near to : o
© 1073 . () 107374
(3) 10737418 (4) 1073741824

12. |Tendency of pollutants to become concentrated in the trophic level is :
(1) Bioremediation (2) Biomagnification
(3) Bio piracy '(4) Biorhythm

13. |[The inhibitory effect of oXyge_n on the rate of photosynthesis is known as
(1) Warburg effect " (2) Emerson effect
(3) Pasteur effect = (4 Blackman effect

14. | The role of chlorine in watefi' treatxpen’t is:
(1) Toremove hardness , (2) To remove ions~
(3) Toremove bacteria =~ (4) Toact as coagulant agent

15. | The World Wetland Day is celebrated on ;
(1) 22nd March (2) 5thJune
(3): 16th September - (4 2nd February

16. |Ergonomic hazards are caused by ...........

(1) Machinery

(2) Poorly designed tools
(3) Chemicals

(4) Electfiéity |

PHD/URS-EE-2022 (Environmental Science) Code-D
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17. | Which of the followlng isa key mtermedlate compound linking glycolysis
to Kerb's cycle ? C
(1) Qxaloacetlc acid
(2) Acetyl Co A
(3) Succinyl CoA
@) Pyi'uvic acid

18. Spec1es that occur in different geographical regmns separated by special
barriers are : ,
€)) Allopatnc species (2 Endemic species
(3) Siblingspecies @ s.ym'patric species

- 19. |The N ational D1saster Management Authority is headed by ‘

(1) Prime Minister of India ' -
(2) President of India
(3) Environmental Minister
(4) Chief Ministers of states

20. |The carrying caﬁaeity ofa populatioﬁ_ is determined by its :
(1) Population growth (2). Natality
3) Limiting resources ‘ .+ (49 Mortality
Which one of the followmg DNA markers can be used to distinguish between

a homozygote and heterozygote ?
(1) RAPD 2) AFLP
(3) RFLP (4 ISSR

PHD/URS-EE-2022 (Environmental Science) Code-D
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22. |In Y-shaped energy flow model, one arm represents herbxvore and the
other
(1) Carnivore _ (2) Decomposer \ -
| @) Omnivore | @) Secondary consdmer
23. Wh1ch of the following is not present in ac1d rain ?
1@ Peroxyacetylmtrate (2) H,CO,
(3) HNO, | 4 H,S0,
24. |[Which one of the following is not true about characteristics of chi-square
distribution ?
(1) Chi-square curve value is always positively skewed
(2) Chi-square value decreases with the i Increase in degree of freedom
(3) The mean of d18tr1but10n 18 the number of degree of freedom
(4) Chi-square is a statlc hypotheels and not a parameter
25. |The performance of a sound insulating material is expressed in terms of :
(1) V1brat1on index (2) Sound reduction index:
(3 Noise level index (4 Sound coefficient
26. Wh1ch of the followmg sampling methods is based on probabl.hty
¢)) Convemence sampling
2) Quota samplmg
3) Judgement samphng‘
4 Stratlﬁed sampling

PHD/URS—EE—2022 (Enwronmental Smence) Code-D
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27. |Which one of the following is not a non-parametric test ?
(1) t-test (2) Sign test
(3) Chi-square test (4) Runtest

28. |In geological studies, a dome shaped intrusion is called as :
(1) Volecanic neck - ~ (2) Laccolith
(3) Nuee ardente- (4) Caldera

29. | The Activated Sludge Process is a - wastewater treatment process..
(1) Chemical () Biological
(3) Physical . (4) Biochemical

30. |The number of organisms of same species per unit area is
(1) Dispersion (2) Competition
(3) Density | (4) Mortality .

| 31. |Most abundant foss.il is : |

.(1) Coal | . @) Natura.l gas
® ol . (4) Peat

32.

Chaparral Maqms Encinous, Melleseab are 1mportant areas of
( 1) ‘Tropical deciduous woodland |

(2) Temperate evergreen woodland i

(3) Trop1ca1 evergreen wood.land =

(C)) Temperate deciduous woodland '

PHD/URS—EE—2022 (Envxronmental Sclence) Code-D
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38.

Which of the following food chain is correct ?

(1) Phytoplankton — Zooplankton — Turtle —» Crabs
(2) Phytoplankton — Zooplénkton '—> Crab — Turtle

(3) Turtle —» Crab-y Zooplankton -> lshytdplankton

4 Zmpl@ton —i.'IHirfle - Crab-‘)f Ph;ztoplankton: o

Two species cannot remain in same place according to

- 34.
(1) Allen's law . (2) Gausehypothesis
(3) Doll'srule s, @) Weismann's theory
35. |Identify the correct pait': <7 i .-

(1) Edaphic-Saline'soil ' -
@ Ecotope-Transiti_én..be..twe,.e.n two ecosystems
(3) Heliophytes- Photophilic plants

(4)' “Ecotone-Particular type of soil

36.

Freshwater ecosystems are nutritionally limited by

(1) Phosphorous and Iron
() Phosphorous and Carbon
(3) Iron and Nitrogen .

(4) Nitrogen an,d Calcium

PHDIURS—EE—-20'2,2' (Ehvironnie,ntal Science) Code-D
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37.

'Threshold of Securlty refers to the population level at which

(1) The balance between parasite and host i8 disturbed as the host

produces antibodies.
(2) Functional response of the predator is very .high
(8) Predators no longer find it profitable to hunt for the prey species.

(€] Parasﬂ:es damage the host body but do not cause immediate mortality.

38.

Which of following stat_ements is incorrect about the enzyme complex which
synthesizes ATP durmg diddatii}e"'ﬁ'liospliofylal:ion ?

(1) Its act1V1ty is not affected by un- coupler
2 It contams a protem channel '
3) Itis mh1b1ted by ohgomycm

4 It bmds to molecular oxygen

39.

"Bermuda grass allergy" is a type of
(1) Contact allergy ~ (2) Airborne allergy
3) Hydroborne allergy- - (4) Soilborne allergy

40.

Wluch of following blottmg techinque is cons1dered more convenient, when
no restriction sites are needed to be studied ?

(1) Northern blotting 2 Qot blot

(3) Western blotting' ", (4) Southern blotting

PHD/URS-EE-2022 (Envu'onmental Science) Code-D
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41.

Brown forest soil is also known as
1) Mollisols 2) Altlsols
3) Spbdosols ) Entlsols

42,

Establishment of a spec1es in. anew area is referred to as

-(1) Ecesis . (2) Aggregatlon
3)- Stablhzatlon (4) Migration _

43.

The Zooplankton of contmental shelf is genera]ly the same as in

! (1) Estuary region a (2) Pelaglc region
| (3) Neritic fegi_On (4 Benthicregion

44.

‘Mesothelioma' is caused by toxicity of

g (i) Mercury - ® Lead

7(3) Arsemc | (4) Carbon monoxide

45.

A volcamc eruptmn W]ll be v101ent if there is

| (1) ngh sﬂlca and hlgh Volatlles

(2) High silica and low volatiles
3) LQW silica and low volatiles
(4) Low silica and high volatiles ‘

46.

Clay minerals are

(1) Tectosilicates . (2) Sorosilicates

(3) Inosilicates - ..(4) Phyllosilicates

PHD/URS-EE-2022 (Environmental Science) Code-D
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47

In biogeochemical cycle, a chemical element or molecule moves through
1) onsphere and hthosphere
()] Blosphere, lithosphere and atmosphere -

(3) Lithosphere and atmosphere
4 Blosphere, lithosphere, atmoaphere and hydrosphere

48.

B1ogas produeed by anaerobic bacterial activity is a mlxture of
(1) CH,OH, CO,, NH, and H, O

@ Co,, So,, NO CH, and HO

(3 H,S, COZ, CO CH and LPG

@) CH CO NH HSandHO

49,

'(1) The oxidative decarboxylation of pyrﬁvate forms acetyi-CoA which is

Which of the following statements about the ox1dat1ve decarboxylation of

pyruvate is correct ? ?

fed into the cltnc ac1d cycle

(2) The oxidative decarboxylatmn of pyruvate formed in aerobic glycolysis

" oceurs in the cytosol

(3) The oxidative decarboxylation of pyruvate is catalysed by the enzyme
pyruvate decarboxylase

(4) The oxidative decarboxylation of pyruvate is reversible since there is
a large decrease of free energy in the reaction

PHD/URS-EE-2022 (Environmental Science) Code-D
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50. | Function of Release factor RF2(Prokaryotes)/eRF1‘, (Eukaryo{:es) during
translatmn is to:
(1) UAA/U GA recogmtlon
(2) Ribosome translocation |
(8) GDP-Exchanging g

|@ GTP-Binding )
51 Amount of 8 hydroxyqumohne M. W 146. 16) required for preparmg 1000
ml of 5 ppm solution is :
Ta) 1.45 mg @ 5mg
3) 7.25mg (4) 14.5mg
- 52. |Longterm stabilify of a community depends on :

‘(>1) Biodiversity | (2) Resource part1t1on1ng
3 Biotic,_cdmponent (4) Successmn

63. | The e;kfepnai ﬁppearance of the commumty which may be described on the
basis of doriii'nant plants, density height, colour etc. of plants is known
(1) Periodicify = @ Phenology
(3) Physiognomy (4) Aspection

54. |TUCN headquartersisat: . L |

| 1)~ Pans, Franee | (2) Vienna, Austria .

3) Morges, Smtzerland 4) New York, USA

PHD/URS—EE—2022 (Env1ronmental Sc;ence) Code-D
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66. |Ascompared to COz, methane has global warmmg potential of :
(1) 5-10 t1mes more (2) 20-26 tlmes more
(3) 40-45 times more (4) 60-65 ti@es more

. 56. |Laterite soil contains more of

: (1) Manganese and Silicate |
(2) Magnesium and Boron
(3) Ironand Aluminium
(4) Potassium and Lead

67. |Universally accepted method for isolating semivolatile orgahic compounds
from their matrices is
(1) Solvent extraction (2) Double infiltration
(8) Sedimentation technique (4) Permeation

58. | The kind of association where both the population are benefitted, but not
essential for the surviyal of either populaticlm is referred to as :
(1) Competition =~ ~~ (2) Exploitation _
(3) Amensalism ..~ _.(4) Protocooperation -

69. | Species diversity increases as one proceeds from

-(1) Higher to lower altitude and lower to higher lafitude

(2) Lower to h.lgher altltude and higher to lower latitude
3 Lower to lngher a.ltltude and lower to higher latitude
(4) Higherto lower altitude and higher to lower latitude

PHD/URS-EE-2022 (Environmental Science) Code.D
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60. | Which of the following ecosystems has the lowest net. primary production
per square metere ?
(1) Agrassland (2) An open ocean
(3) A Coral reef (4) A tropical rain forest

61. |The rate of variation of population (N) with time (t) represented by equation
dN/dt = 7 N, follows'
(1)‘ J-shaped curve (2) S-shaped curve
(3) Z-shaped curve (4) Parabolic curve

62.} The soil type which is good for agriculture is
(1) . Podozols | (2) Latosols
(3) Serpent Soil (4 Solonachak

63. | Restoration of genetic diversity of a population can be obtained by :
(1) Sexual selection
(2) Mutation
(3) Genetic dnft
(4) Stabilising selection

64. | As per Indian Standards (BIS) for dnnkmg water aesirable limit for total
hardness as CaCO, is
(1) 100 mg/l (2) 200 mg/
(3) 300 mg/l (4) 400 mg/l

PHD/URS-EE-2022 (Environmental Science) Code-D
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65. | The smokestack plumes exhibit 'coning' behaviour when
(1) Stable atmospheric conditions exist

(2) Atmosphere is unstable

(3) The height of the stack is below the inversion layer

(4) Inversion exists right from the ground surface above

(1) 30% | - (2) 55%
B 12% @) 6%

66. |Among total dissolved matter in marine water, chlorine accounts for

67. |Peroxyacetyl Nitrate (PAN) is formed by oxidation of
@) Hydrocarbon's ‘ (ii) - Isoprene

(iii)) Terpene e . +(iv) Arsenic

Choose the correct answer from the cl:odes .

(1) (@) and (iv)

(2) (i) and (iv)

(3) (iii) and (iv)

4) (), (i) and (iii)

68. | The evolution of genetic resistance to antibiotics among disease-
bacteria is an example of

(1) Stabilizing natural selection
(2) Directional natural selection o
(3) Diversifying natural selection

(4) Convergent natural selection

carrying

PHD/URS-EE-2022 (Environmental Science) Code-D
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" 69. |Beer's Law is applicable in case of :

(1) Heat transfer
(2) Convection studies
3) Transmission of light

(4) Photochemical reaction -

70.

Anemometer is used to measure
(1) Atmospheric pressure (2) Wind speed
(3) Atmospheric temperature (4) Wind velocity

71.

Pleistocene represents period of
(1) Cold climate

(2) Warm climate
(3) Alteration of cold and warm climate with high proportion of cold period

(4) Alteration of cold and warm climate with very high proportion of warm

period.

72.

Which of the following is a function of M cyclins (product of cdc 13 gene)
during cell cycle ? :

(D Activate Cdk1 for S i)hase
(2) Activate Cdkl for M phase

(3) Phosphorylation of Cdk
(4) Converts M form of Cdk1 to S form

PHD/URS-EE-2022 (Environmental Science) Code-D
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78. | Which of the following monomer did not make up DNA ?

¢)) Deoxythymidylic acid
(%)) Deoxyguanylic acid
(3) Deoxyuridylic ‘acid
(4) Deoxycytidine acid

74. | Bio-oil can be obtained from lignocellulose by
(1) Combustion ~ (2) Fast pyrolysis
(8) Gasification (4 Transesterification
75. | During DNA replication, vOKaz.aki fragments are formed on
(1) Unopened strands (2) Leading strand
(3) Unopened proteins (4) Lagging strand
76. | The validity period of Environmental Clearance after Environmental Impact
Assessment is least for :
1 Mmmg pProjects
(2) River valley projects
(3) Harbour projects |
(4) Area develop‘ment projects
77. | Which statement is not correct for hazardous wasteg ?

(1) They contain one or more of 39 toxic compounds
(2) They catch fire eagily
(3) They are nonreactive and stable

(4) They are capable of corroding metal containers

PHD/URS—EE—2022 (Environmental Sclence) Code-D
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78. | Right to clean environment is guaranteed in Indian Constitution by
(1) Article 14 (@ Article 19
(3) Article21 = - - (@) Article25
‘79. National Ambient Air Quality Standards for major po]lutants were »notlﬁed
by CPCB in
(1) 1994 @ 198
@ 2004 (@ 197
80. |Public Liability Insurance Act came into existence in the year !
m 198 @ 1989
3) 1991 e (4) 1995
81. Which of the foillowing is not present in soluble state in alkaline soils ? |
(1) Pofassium @ .C.alcium
(3) Nitrates o 4 P'hosphorous
82. [ Which of the following artificial chromosome has largest carrying capacity?

(1) BAC (2) YAC

3) PAC (4) ® MAQ

PHDIURS—EE—2022 (Environmental Sqlence) Code-D
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83. | Which is the correct sequence for impact assessment process in EIA ?

(1) Prediction of impacts — Identification of impacts — Description of
environment — Evaluation of impacts — Identification of mitigation

needs.

(2) Identification of impacts — Prediction of impacts — Evaluation of
impacts — Identification of mitigation needs.

(8) Identification of impacts — Description of environment — Prediction
of impacts — Evaluation of impacts —» Identification of mitigation

needs.

(4) Description of environment — Identification of impacts — Prediction
of impacts — Evaluation of impacts — Identification of mitigation
needs. '

84. [The most commonly used method for desalinization of wateris :
(1) Distillation - =~ - '(2) Reverse 0Smosis

3) Ion-exchange 4) Electrodialysis,

85. | Which of the following pertains to "high-waste approach" ip dealing with
the solid and hazardous wasteg ?

(1) Compostipg (2) Recycling

(®) Buryingandburning  (4) Reusing

PHD/URS-EE-2022 (Environmental Science) Code.D
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86. |[In most of the studies, a large sample size is anticipated to

(1) Maximize the sampling error
(2) Get a low level of precision

(8) Maximize the standard deviation
(4) Get a high level of precision.

87. |The geometric mean of 4, 8 and 16 is
(1) 91 (2 4.6
@) 8.0 @ 102
88. | Copper (Cu) is classified according to its geochemical affinity as :
(1) Chalcophile element |
(2) Siderophile element
(3) Atmophile element
(4) Lithophile element
89. | Which of the following is used in manufacturing flexible plastic bags and
sheets ? -
(1) Polyethylene terephthalate
(2) Polystyrene
(3) TEFLON |
(4) Low density polyethylene
90. | Which one of the following is a non-formal environment education and

awareness programme ?

(1) Environmental appreciation courses

(2) Environmental Education in school system
(3) National Environment Awareness Campaign

(4) Environmental Management Business Studies

PHD/URS-EE-2022 (Environmental Science) Code-D
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91.

Dunes are the most spectacular land formsof ______ ecosystem.
(1) Marine (2) Desert
3) Grassland (4) Forest

92.

Highest level of species richness is observed in _____
(1) Tropical rain forest

2 Te:ﬁperate grass lands

(3) Coniferous forests
(4) Alpine pastures -

,7’

93,

The technique of extracting metal from ore bearing rock is called
as:

1) Bio extraction

(2) Microbial extraction
(3) Bioleaching

(4) Biofiltration

94.

A compound that is foreign in nature to biological system is D
(1) Halogenated compound "
(2) Aromatic compound | )
(3) ?(enobiotic compound

(4). Organic comﬁound _

95.

Which of the following is not true about Hatch and Slack cycle ?
(1) CO, acceptor is PEP }

(2) Oxaloacetate is first stable product

(3 CO, compensation point is very high

(4) Thirty ATP are required for synthesis of one glucose molecule

PHD/URS-EE-2022 (Environmental Science) Code-D
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96.

Which of the following statements about the generation of ATP in the
electron transport chains i 18 correct ?

(1) The F1 subunit of the ATP synthase contains the motor which is driven
to rotate by the proton flow

(2) The FO subunit of the ATP synthase binds ADP and Pi tightly before
ATP synthesis occurs

(3) The FO subunit of the ATP synthase contains the catalytic centre that

synthesizes ATP
(4) The F1 subunit of the ATP synthase containsthe catalytic centre that
synthesizes ATP
97. | Chlorella species are widely used in the removal of :
(1) Organicwaste - (2) ‘Hydrocarbons
3) Heavy metals (4) AH of these
98. |Cd, Pb and Hg are nephrotoxic metals as they cause harm to organ.
(@) Liyer ~ (2) Kideny
(3) Pancreas - (4) Lungs
99. |[Flood which is caused due to heavy rain or dam break within 6-12 hours of
beginning of rainfallis
(1) River Floods . (2) Flash Floods
(3 LagTimeFloods.. =~ .. (4) Coastal Floods
'100. | A non directed phjreico' chemical interaction between heavy metal ions and

microbial surface are called : |
(1) Biotransformation (2) Bioconversion

(3) Biomining - (4) Biosorption

PHD/URS-EE-2022 (Environmental Science) Code-D
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